
Step 1.  Using a 8mm wrench or socket remove the plastic fender extensions, found on some Wrangler model jeeps 
as shown in Photo 1.  

Step 2.  Position the Rocker Guard between the fender flairs, then push up on the bottom of Rocker Guard until it seats 
firmly against the bottom edge of the body tub. Use the mounting holes in the Olympic Rocker Guards as 
a template, mark the location of the holes you will need to drill to fasten the Rocker guards to your 
jeep.

Step 3. Pull the interior carpeting inside the Jeep away from the interior side wall.
Using the center punch mark the location of the holes to be drilled.
Drill 1/8” pilot holes and then drill 1/4” hole  for only the three center holes. 

Note:  Use a touch up paint on the drilled holes to cover all bare metal and let dry before  
applying the clear silicon as described in Step 4. 

Step 4. Place a small amount of clear silicon in the newly drilled holes.  Position the Rocker Guard in place and 
insert the 1/4” bolts thru a flat washer and then thru the three center mounting holes and fasten by first placing 
a flat washer then lock washer and  secure with 1/4” nut.   

Step 5.  The #14 screws will be  used in the   ends of each rocker guard. You will install a flat washer on them before  
usign them to secure the rocker guard.  Take care not to over tighten these screws. 

127-Rock Guard 
Olympic 4x4 Products are serviced by our

factory trained personnel.  We provide
answers to installation questions. We ship
component parts A.S.A.P.  Call us before
returning Olympic 4x4 Products to your 

retailer or mail order specialist. May not work
with some aftermarket fender flares, modified

or trimmed wheel wells
For assistance please call

800-777-0878Tools Required:
Wrench sizes: 7/16”, 8mm
phillips screwdriver
Silicon Sealer 
Drill bits 1/4” and 1/8”
center punch     

Included list of hardware : 12X TJ
4 #14  screw
6 1/4” x 3/4” phillips screw
16 1/4” flat washer
6 1/4” lock washer
6 1/4” nut

Parts list:
1. Driver Side Rock Guard
1. Passenger Side Rock Guard

Fits: 1997-2006 Wrangler Jeep TJ 

 

Photo 1


